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= 488,085
2 2,026,770
HASTIHEO AAIY 85,200 58,200 27,000
= 27,250
= 57,950
206 T2l 300 0 300
01 T2l 300 0 300
@AAHIE AR 2 3,0002 ¥100% 300
301 YsrPAS 76,500 58,200 18,300
= 27,250
2 49,250
SIEEEERSTE 76,500 58,200 18,300
@FASTHIHE O AAH S (1002)
3,0002 1002 x2552! 76,500
= 27,250
2 49,250
307 Q1201 8,400 0 8,400
02 pIABNBE 8,400 0 8,400
@AAHE THEZAR 25H X2 8,400
ORBH NA(S) 10,0002 +1S+52+602 3,000
ORBH XA (H) 10,0002 %9011 602 5,400
colgdiel X 4,800 4,800 0
= 2,400
2 2,400
307 Q20| 4,800 4,800 0
= 2,400
2 2,400
EEIENEES 4,800 4,800 0
@wolY 2| OFRIAIY 4,800
= 2,400
2 2,400
cognel X 640,890 498, 150 142,740
= 320,445
= 61,659
2 258,786
307 Q1201 640,890 498, 150 142,740
= 320,445
= 61,659
2 258,786
02 PINBAEE 640,890 0 640,890
@woURz X 640,890
= 320,445
= 61,659
2 258,786
IELYZ X 9,739,363 9,226,922 512,441
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04 JIAH2R IS B4 36,388 32,258 4,130
@IS SAIE THAALE 22l 36,388
O AtEI = XAt 13,810
- JlE2a 43,5603 »1H 253 11,021
- ReFgsE 43,5603 x1H +53 2,309
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201 Yer2| 3,000 5,000 A2,000
01 AtR22iHl 3,000 5,000 22,000
@NIBAE DAAIL 3,000
MOt QI=RIAIE 23 117,520 198,390 80,870
&2 24,679
= 92,841
307 G12+0lH 117,520 198,390 A 80,870
2 24,679
2 92,841
EIEPEES 117,520 198,390 80,870
@It =XAE 2 117,520
OYEZLAAE K& 100,000
= 20,000
= 80,000
OFO0ItESAIE XA 17,520
= 4,679
2 12,841
COIMEAlE SSUR X 21,983 0 121,983
& 61,614
= 60,369
301 YptBaag 121,983 0 121,983
& 61,614
i 60,369
01 MIBIEEH=0dl= 121,983 0 121,983
@O QIMEAL JIgL SN K& 121,983
= 61,614
2 60,369
IRYEIX Na Beole2 1,846,855 1,283,035 563,820
= 725,490
= 1,121,365
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01 AlRIEEE 563 1,846,855 1,283,035 563,820
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@LEOIMEAIL BHOSE(HIIZ0) 410,800
A LA 2Y 33,200 0 33,200
201 B3| 33,200 0 33,200
01 AtE222lHl 11,600 0 11,600
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oJleag 34,9603 1 253 8,845
oRzEYLY 34,9602 12§ x532! 1,853
OXtREsIH=Y 34,960 x1H*11L 385
@Al 2tel 11,632
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O2dd 11,290
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BB E|R LSME DR
ool ARY NS KR (sl &
SH-EH . O3 - MBAY - BAS 0l &b o Soe HRZ2
| = 14,400
I ety XI& 38,000 36,400 1,600
= 7,600
iy 30,400
307 2I12t01 A 38,000 36,400 1,600
= 7,600
iy 30,400
02 SI2ZtZAE X 38,000 36,400 1,600
@HEE ey 52 & 38,000
== 7,600
iy 30,400
gNEIzY 29Hl N 11,400 11,400 0
& 2,280
o 9,120
307 212t01A 11,400 11,400 0
& 2,280
o 9,120
05 OIZIRIEZ 11,400 11,400 0
@IME=Y 29H| N2 (19 A) 11,400
== 2,280
iy 9,120
d=2Y M= 150,000 160,000 A 10,000
401 AIEHIZ 20| 150,000 160,000 A 10,000
01 Al&HI 145,725 160,000 N14,275
OIS HSelZZ2E W= 145,725
02 Z2ldl 4,275 0 4,275
@OEXS HSCIEZY W= 4,275
dz2Y 2% 100,000 100,000 0
401 AlEHIZLL20H] 100,000 100,000 0
01 Al&H| 100,000 100,000 0
@3z= e 100,000
PHAZE Tz ) 2HAE 1,000 1,000 0
== 1,000
307 QI2t0| A 1,000 1,000 0
== 1,000
02 QItZASE X 1,000 0 1,000
@RHAZY T2y XA (1HA) 1,000
= 1,000
A2 Y EIAIE OHEAEA 17,190 0 17,190
201 B3| 17,190 0 17,190
01 At22teldl 17,190 0 17,190
@OEIAIE OHMEH 90,000 *191JH A~ 17,190




SN
X XH .
S Tt

el

SN EE - ER(EN) - NRAY - BaS sl e HlRE2
CEgast F2Y AUETHE 500,000 0 500,000
L= 250,000
= 250,000
401 Al&HI LS OHYI 500,000 0 500,000
= 250,000
i 250,000
01 Al&H| 500,000 0 500,000
LE2EZE2Y AF(30Ma) 500,000
= 250,000
= 250,000
gtotel AR Es N& 88,864 2,354,672 A2,265,808
ZAANE 2E 48,864 319,622 A 270,758
101 el H] 23,264 20,622 2,642
04 JI2tHIZ2E2ENHESE S 23,264 20,622 2,642
@AIE 2 23,264
oJl2a 36,6903 »2H 253 18,566
ORESsdsE 36,6903 x2H x53 3,890
ORtpNEa= o R 36,600 «2H 11 808
201 et 25,600 46,000 A 20,400
01 AtS 22/l 6,000 10,000 24,000
OFAANE 2S 6,000
02 =234l 19,600 36,000 A 16,400
OZAAE 2F 19,600
AN EIHE = 40,000 0 40,000
401 A EHIL 201 40,000 0 40,000
01 Al&HI 40,000 0 40,000
@I AMAIE HE = 40,000
OAM&E HE=> 5,000
OHLIl &xXl 10,000
ozZtet &X 25,000
EY FUMHA WS 1,240,635 964,019 276,616
= 227,841
= 163,442
i 849,352
95X 2 243 N3 234,240 113,340 120,900
& 21,208
= 213,032
MEEXE2S 23 46,400 40,000 6,400
= 8,000
= 38,400
307 S12t01& 40,000 40,000 0
= 8,000
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SN FOIMEX D
Hal: B FOMUIA KB
=

ool N=X 2o BAs N R
SA B HRA(SH) - MRAY - B 0] & 08 e HIREY
i 32,000
02 BltAAE X 40,000 0 40,000
@A SRS 2F (1HA) 40,000
= 8,000
= 32,000
402 It XHE01H 6,400 0 6,400
01 BIZFGEEXR 6,400 0 6,400
OMNBI=TEE JIs2Y 6,400
FoW3 2Y 18,000 10,000 8,000
307 212t0I& 18,000 10,000 8,000
02 2ItAASE X 18,000 10,000 8,000
@3 22 X 18,000
MIEXNE B3 11,040 11,040 0
= 2,208
= 8,832
301 et2a = 11,040 11,040 0
= 2,208
= 8,832
01 AISIEE " =03 11,040 11,040 0
@OAMSIZEXNNZ B2 11,040
= 2,208
= 8,832
SXslz 2F2tel 45,400 40,000 5,400
401 A EHIL 204 33,900 30,000 3,900
01 Al&H| 33,900 30,000 3,900
@OAIE HE =+ 33,900
405 AHeHESHI 11,500 10,000 1,500
01 T =S H SHI 11,500 10,000 1,500
028 7Y 1,500
OXd Duwstki=a X2 55,000 0 55,000
= 11,000
= 44,000
301 YLz 55,000 0 55,000
= 11,000
= 44,000
01 AIsIEE " 0l= 55,000 0 55,000
@nssn gsz ¥ 42 1 55,000
= 11,000
i 44,000
M2xt XI9AI =X HE 82 50,000 0 50,000
207 AN 50,000 0 50,000
01 2 E S| 50,000 0 50,000




SN EOIMB A D
o UEE FOAHIA M3
ool NH=X 29 245 A (25l &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES O AF o8 il b o bRz
@RI2%t XIGAEI =X 22 8 50,000
SPIAY 2| 8,400 8,400 0
202 Oft| 8,400 8,400 0
01 2UhoiHl 8,400 8,400 0
ONE=ISY 245t 2 8,400
Foug Xe 631,695 509,339 122,356
= 207,841
= 67,294
= 336, 560
I ALSI MBI A SXEALYS 134,674 233,457 £103,783
= 91,340
= 8,667
2 34,667
307 BI2HOI 134,674 238,457 ~103,783
2 91,340
= 8,667
= 34,667
05 QI2r9IEra 134,674 238,457 £103,783
@XHASINEIA SXEAFS 134,674
OO0IS QXIS 4 NHIA 101,842
2 69,418
& 6,587
2 25,837
OFZE IHZEY 2SI 32,832
= 21,922
= 2,080
= 8,830
AZ=NXA A 106,250 146,250 40,000
2 85,000
= 4,250
2 7,000
01 YerBA2 106,250 146,250 40,000
2 85,000
= 4,250
= 17,000
NIEEE P 106,250 146,250 40,000
@AS=X XA (100Y) 106,250
2 85,000
= 4,250
2 17,000
AAAVRAE X 12,000 23,400 A 11,400
= 12,000
301 LB 12,000 23,400 A 11,400
= 12,000
01 ABIEEEAH3 12,000 23,400 A 11,400
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A UMY
MBS FOUMHIA HIZ
Pl g N (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
@Oita? 2=XE 12,000
= 12,000
AEEAMEEH 2 30,815 27,860 2,955
101 el 24| 11,083 9,826 1,257
04 JIZHZZ2ASE=> 11,083 9,826 1,257
ONBSAMEE 2 11,083
oJles 34,9603 »1H 253 8,845
ORssd=+E 34,9603 x1H x53 1,853
OHXtREsIt=E 34,960 x1E*11 385
201 Et=EH| 12,480 10,282 2,198
01 AtR2teld] 7,000 9,802 A2,802
@AtR 2t el ] 7,000
02 3224l 5,480 480 5,000
@323l 5,480
301 LerE Az 6,252 7,752 A 1,500
10 SAIAHIE2 A =S 4,812 4,812 0
ONASAK WEEAS 4,812
12 JIEt24 3 1,440 2,940 A 1,500
OXHEASALA DA K& 1,440
405 AHaHH S 1,000 0 1,000
01 MR ESF=H 1,000 0 1,000
@CIXIEZStoiet(1th) 1,000
AN SAE 2C0UI0IEH XI& 30,472 30,472 0
= 15,236
o 15,236
101 el H] 30,472 30,472 0
= 15,236
= 15,236
04 JIZtHZ2HSE= 30,472 30,472 0
©XESAt 2CIUIOIE X1 (2€) 30,472
= 15,236
= 15,236
NEASAA 288 A& 3,152 3,780 N 628
= 1,576
= 1,576
201 Et=gH| 3,152 3,780 A628
= 1,576
= 1,576
02 3323l 3,152 3,780 N628
ONBSMA 282 X2 3,152
= 1,576
= 1,576
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M =olME 2 0t
& dEE FUAHA MBS
ool FoME X (Er9): @2
}\_I X~ xH C|—O|(:|j;”) }\.“bl}\l,O-l A2 AFOH XI_-ILjL:— HleDF
IFA2I oA 23 10,450 12,600 A2,150
201 LBt 9,450 12,600 A3,150
01 AFR 22| 9,450 12,600 A 3,150
@OXAM=SXNEAM L SXAE AT A=
= 70,0003 45 x33| 9,450
301 LEtB A= 1,000 0 1,000
10 SALAHIEAZ 1,000 0 1,000
@OEAMAS &AL A 1,000
Hel2 0l |I& 3,300 9,900 26,600
301 L2 AZ 3,000 9,900 26,900
01 AlRIEEE 2563 3,000 9,900 26,900
@HHAR0Z A= 15,0002 200 3,000
307 gI2told 300 0 300
01 2L =H| 300 0 300
@OIME JHEFRSES 7Y 20,0003 x15H 300
QIMEAHIA EE 6,000 5,000 1,000
203 HRF&H| 6,000 5,000 1,000
03 AEFIHRFAY| 6,000 5,000 1,000
@OFRIMBXJAMEA 2R FA 6,000
s 2 5,500 4,900 600
201 et 5,500 4,900 600
01 AFR 22l 5,500 4,900 600
OsXags 2¢ 500,000& * 1104 2 5,500
I=RNSEAMUA M2RA XA(=1D) 69,378 0 69,378
= 34,689
= 34,689
101 144l 52,034 0 52,034
= 26,017
= 26,017
04 JIZtRIZ2E2NEE S 52,034 0 52,034
@RMOIEXE Md2RE Q1A 52,034
= 26,017
= 26,017
201 B3| 6,938 0 6,938
= 3,469
i 3,469
01 AtER22/Hl 6,938 0 6,938
@oIMotEE 23 6,938
= 3,469
= 3,469
405 KHAHFESHI 10,406 0 10,406
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N BT (3H) - MEAIY - B2 Al OH &EIE Ho=2t
co=m s IR ° . [= Bl e =5 0:”/|l|,% Lsa
= 5,203
i 5,203
01 XL SSFHSHI 10,406 0 10,406
@oIMOtEXIRE HIZE 7 10,406
= 5,208
= 5,203
=S4 DG ALY 1,000 0 1,000
201 Let243| 1,000 0 1,000
03 A2 ZHI 1,000 0 1,000
@OHsANZES Y IiE 1,000
SHRIALY 23 2| 6,720 6,720 0
202 O4H| 6,720 6,720 0
01 =LA b 6,720 6,720 0
OAMHIASH HRFX 6,720
OAMHIASH 29 6,720
SEAE010/2 Ols¥EY(ZH]) 211,984 0 211,984
= 42,377
= 169,607
301 Ypt8azg 211,984 0 211,984
= 42,377
= 169,607
01 AlRIEEE 2563 211,984 0 211,984
@OEFAE0I0E0ts 211,984
& 42,377
= 169,607
MEIEXAE 22 374,700 341,340 33,360
= 74,940
= 299,760
MISXAE S SX=E 336,600 300,240 36,360
= 67,320
= 269,280
307 212t01& 336,600 300,240 36,360
= 67,320
= 269,280
02 QI2tBAE X 336,600 300,240 36,360
OASISXAIESALR SXI2=5H(2039) 336,600
& 67,320
= 269,280
I2HAMIDAE 2SI 38,100 41,100 A 3,000
& 7,620
= 30,480
307 212t01& 38,100 41,100 A3,000
= 7,620
i 30,480
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SH FOMETIA
B DojI=K 2D 2 AN
Crol: A OO = X ALY R
_ _ _ Muo
SA B HRA(SH) - MRAY - B 0] & 08 i HIREY
= 3,072
= 12,288
Dol ABHA N 5,677 5,677 0
o= 1,135
i 4,542
301 EtBA = 5,677 5,677 0
& 1,135
i 4,542
01 AISIEEE =63 5,677 5,677 0
@O H2HAXA 5,677
= 1,135
= 4,542
EXNHAZEXE 2g X 24,000 24,000 0
L= 4,800
i 19,200
307 GI2+0IA 24,000 24,000 0
= 4,800
i 19,200
05 BRI = 24,000 24,000 0
@EHO 2ATE HBSH(1HA) 24,000
= 4,800
= 19,200
ZoHelZst=sotel #sX& 2,700 2,700 0
307 QI2t0IA 2,700 2,700 0
02 BltAAEX 2,700 2,700 0
©HY 230E S0zl BEXA(1HA) 2,700
ZOoHel=X LXtelAt O 12,111 4,542 7,569
= 6,056
& 1,211
i 4,844
307 GI12+0I & 12,111 4,542 7,569
= 6,056
= 1,211
= 4,844
05 BIZtRE = 12,111 4,542 7,569
OROIQ=N LXK (82) 2,111
= 6,056
= 1,211
= 4,844
HEZOHC! AR EH S XIRAS 22,814 8,000 14,814
= 18,250
= 914
= 3,650
307 QI2t0IA 22,814 8,000 14,814
= 18,250
& 914
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S FOIMERD
M mojoI=R HD 2 A
Sl ZOROIZRIAL (e
_ _ _ Muo
SA BB H(BH) - MBAY - B2 O A+ 24 il i~ o Rz
01 AtEI B X453 2,435 2,445 A10
OOjQ MELEI|T DRI (302) 2,435
= 1,048
= 97
2 390
BOHQI B H NS X2 7,000 7,000 0
= 7,000
301 YBrEAS 7,000 7,000 0
= 7,000
10 BAAHIE A2 7,000 7,000 0
@FOHQ BEHAAHS KN 7,000
= 7,000
SolAY 29| 6,720 6,720 0
202 01t 6,720 6,720 0
01 =Ujoi | 6,720 6,720 0
@RI =2XLL =X 6,720
HOHOS THE XI 2 ALY 72,000 0 72,000
= 50,400
= 4,320
2 17,280
307 2I2+0IH 72,000 0 72,000
= 50,400
= 4,320
2 7,280
05 QI2t9lErz 72,000 0 72,000
O OJOL S TH & XI 2 AFE] 72,000
=2 50,400
= 4,320
2 17,280
ZOHl ®ol X2 84, 170 0 84,170
201 Ygreg| 240 0 240
01 AtRZelt| 240 0 240
@=XIE BRAEIH R 240
401 AEHIYLS ] 76, 180 0 76,180
01 Al&| 76, 180 0 76,180
@SPIEA ZOjO BOAlL & 76, 180
405 X+arFE S| 7,750 0 7,750
01 XHAYSEE S| 7,750 0 7,750
@I 2HIXIBF(14]) 7,750
BOHQIAIE B S X2 (B2 H) 157,196 0 157,196
=2 110,037
= 9,432
2 37,727
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I—J\:”
HJ
>

031 024 44
2210
e re oz
e
A
e

>
1°
[
40
2
0

1}
x
bl
bal
e

.S (2AH) - MBAY - BES Ofl &4

=

i

J2H
Es
S
Ol
0y

w
S
<
e
rJ
=)
r

157,196 0 157,196
110,037

9,432
37,727

W

05 QIZtRE = 157,196 0 157,196

QNS &S X2 (H2H) 157,196

110,037
9,432
37,727

H W

AZEE0HQl QHOFAIHI A 2 AD|IH 9,600 0 9,600

307 2120l & 9,600 0 9,600

&3 9,600 0 9,600
@AIZZ OOl OO A HIA S AT 9,600

SHSSHUM XX 11,520 0 11,520
2,304
9,216

U

307 2120l & 11,520 0 11,520
2,304
9,216

EURCH

05 BIZtRAE = 11,520 0 11,520
ST0el Es2L 11,520

2,304
9,216

Ml

ALEZE 0 ZHIR2 X HOHEEXRA 6,000 0 6,000
4,200

360
1,440

M

307 QI2+0IA 6,000 0 6,000
4,200

360
1,440

H M

05 BIZtRAE = 6,000 0 6,000
@A EZ. A0 HOHAURZ2 N HAOHLEX 6,000
4,200

360
1,440

AW

NASZOH Meerd X2 1,261,344 1,214,559 46,785
878,221
76,625
306,498

W

0= 689,682 1,091,448 A401,766
482,778
41,381
165,523

MW

301 LEt2H S 689,682 1,091,448 A401,766
482,778

H
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A FRIMEX A
M Fojel=sX 20 =
SR NASTOHY Mot

o T

0% 1>
o
0
0
£l
o

SN CR(EH) - NRAY - BES el

[
2
2
R
12
o
£l
0l%
IS

41,381
165,523

EURGH

01 A2 H+06= 689,682 1,091,448 A401,766

@ZO0H==&(1,0008) 689,682
482,778
41,381
165,523

W

Z 0§l 2l 2 | 27,007 24,363 2,644
21,606
1,080
4,321

MW

301 LetEas 27,007 24,363 2,644
21,606
1,080
4,321

M

01 M2 63 27,007 24,363 2,644
@FO0e!l o= H[(100Y) 27,007
21,606

1,080
4,321

H

ZOoHele 2HI(HISH)XI& 4,000 4,000 0
800
3,200

U

301 LEtEas 4,000 4,000 0
800
3,200

EUNCH

01 A2 A 4063 4,000 4,000 0
@ZOoHel 2ZHI(BI=0) K& (2¢) 4,000

800

3,200

Ml

ZOH QI KHA &I 4,934 5,885 A 951
3,947
197
790

A

301 Let2a= 4,934 5,885 A 951
3,947
197
790

W

01 M2 H=+63 4,934 5,885 A 951
@ZOoHel XHAEH|(8YH) 4,934
3,947

197
790

W

OISR L& 66,397 79,743 A13,346
46,478
3,984
15,935

MW
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S E
X ZH - K|
S Tt

fe=)
ool &

A} OH

i
P

N
Ja
A
40
for
X
=
el
=
1%
e

o

-/

=1
B
121

M

424,546

M H1

57,600

11,520
46,080

38,400

19,200

307 GI12+0l &

EURE

57,600

11,520
46,080

38,400

19,200

Mk

57,600

57,600

11,520
46,080

38,400

19,200

Ml 1

750,372

375,186
375,186

878,145

N127,773

307 2120l A

U

750,372

375,186
375,186

878,145

AN127,773

02 DIZIAAIE X

Mo

750,372
750,372

375,186
375,186

878,145

N127,773

ZOHQISXIAIE UH=ZRe™ X

Ml 1

3,600

720
2,880

7,200

A3,600

307 21z2told

M H1

3,600

720
2,880

7,200

A3,600

02 012+ At

EURCH

3,600

3,600

720
2,880

7,200

A3,600

Ml

500

100
400

500

307 2120l &

U

500

100
400

500

02 QIZtFAEX
IAIE

500

500

100
400

500

ZoHeI0ISAIE XI&

1,703,650
56,430
530,810
23,727
1,092,683

1,233,578

470,072

|
2| wmAn |
|




M =olME 2 0t
=3 M=K HD P A
¢l HOoHelolSAIE XA (ctel: &
SN -ZH A (ZH) - MFAY - BES Aol a4 T BlusZ
Zojel=X2 23 640,116 640,116 0
= 253,705
= 386,411
307 212t01& 640,116 640,116 0
= 253,705
= 386,411
05 2IZtRAE = 640,116 640,116 0
@Y= 24 605,116
= 253,705
= 351,411
ONEHLZEANS 35,000
ZOHIEHTHEANER2E K& 413,975 345,175 68,800
= 277,105
= 136,870
307 212t01H& 345,175 345,175 0
= 277,105
i 68,070
05 BIZtRE = 345,175 345,175 0
@A XATHEANLE 2 345,175
= 277,105
= 68,070
402 It X =01H 68,800 0 68,800
01 QIAXGEEX 68,800 0 68,800
@OFHIZZ2HAE JIsE2 68,800
HTHEAIE BiSH| 5,000 5,000 0
& 1,000
= 4,000
307 gI2told 5,000 5,000 0
& 1,000
= 4,000
02 ItAASE X 5,000 5,000 0
OO MASE THOHAIE HHSHIXIA 5,000
= 1,000
= 4,000
LSBEHER M Ty 7,200 7,200 0
= 1,440
= 5,760
307 212t01& 7,200 7,200 0
& 1,440
i 5,760
02 ItAASE X 7,200 7,200 0
@3 SAHEHE MME XY X2 (1Y) 7,200
& 1,440
= 5,760
SOHQIQIRZ A 22 KIE 29,000 29,000 0
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M FOIMBXAD
B MO HD 2 A
Crel: BOIQI0IBAIE X/ (el @R
_ _ MNuE o
M- F2 SR (3) - HIRAY - B e Abou Sl e =
S 5,800
= 23,200
307 2120l & 29,000 29,000 0
S 5,800
= 23,200
05 2IIRAE =S 29,000 29,000 0
OFOHO RSB AA 2YXIA(1IHL) 29,000
= 5,800
i 23,200
ZHOMHTERNRALH 23 21,000 21,000 0
= 4,200
= 16,800
307 2120l & 21,000 21,000 0
S 4,200
= 16,800
05 2IIRAE =S 21,000 21,000 0
OAAHOR TR K HE SHRIH(1H2) 21,000
= 4,200
= 16,800
OHe!==RI XXM =<0 X & 112,859 22,229 90,630
= 56,430
= 11,287
= 45,142
101 el H] 112,859 22,229 90,630
= 56,430
S 11,287
= 45,142
04 JIZtMIZ2XsE =+ 112,859 22,229 90,630
©FON FOITXIME HFHEL0I(112) 112,869
= 56,430
S 11,287
s 45,142
HOHRIKIAMEl HEAL 29 170,000 163,858 6, 142
307 2120l & 170,000 163,858 6,142
02 2ItAAE X 170,000 163,858 6,142
O4SEAME 2 UR(1HA) 85,000
@FOHO! OISHAME 2LXRA (1) 85,000
ZONA X G ALS THEAE JIsEH 4,500 0 4,500
402 QI2EHE01H 4,500 0 4,500
01 2IEX=EE X 4,500 0 4,500
OEHRHAISTRME JS2Y 4,500
O AATHEALY JIsES 300,000 0 300,000
401 A EHIL 201 300,000 0 300,000
01 Al£HI 291,660 0 291,660
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2t

S TIPCE DN
oHeI=R 2D 2 A
ZOHI0IS AL X2 (S5 &)
_ _ _ Muo
SNBSS - HRAY - BHES Aboy e HIRZE2
OFHA22 AL ARA U HD B 291,660
VRETEI 6,180 0 6,180
OFWA2ZHAAL ARA L B B5 6. 180
03 Al&=CHY| 2,160 0 2,160
OFHAD2HYAL ARA L HD B= 2,160
20t 22 22l ¥ N 418,110 537,044 ~118,934
= 400
= 417,710
2EMAY 418,110 537,044 ~118,934
= 400
2 417,710
SYRTN REY2H X 2,000 1,500 500
= 400
2 1,600
307 21201 H 2,000 1,500 500
= 400
2 1,600
NIEEEEEN 2,000 1,500 500
OSYRIN RTOIEH X (4Y) 2,000
= 400
2 1,600
SEHA N 4,700 4,100 600
201 LBty 1,200 2,000 A800
03 A2 | 1,200 2,000 800
@HEY A 29 1,200
301 LB AI 3,500 2,100 1,400
10 BAAEI 24 S 3,500 2,100 1,400
@B LA B4 3,500
HEAL 22 11,410 6,444 4,966
101 121l 6,410 6,444 A34
04 JIAHIEXS B4 6,410 6,444 A34
@B AL R (4N 4) 35,6102 %1802 6,410
401 AIEHIL2OH] 5,000 0 5,000
01 Al&t| 5,000 0 5,000
@EI20143 TV F¥ | 5,000
OZ2ZNA Z2tS X  250,0002*167H 4,000
0FAHH, ZTZ4 A 1,000
PESSALET(YUSSRZ) 400,000 500,000 £100,000
01 YsrBA2 400,000 500,000 £100,000
NIEEEERTE 400,000 500,000 £100,000
%0 42 400,000
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SN

=0l
Ha: 201D
el =010 (e @
_ _ HE T
A SR (BI) - MRAIY - BES Ao il i~ o Rz
=LIBIERY! 7,944,243 8,331,820 ~387,577
= 6,309,500
= 2,500
= 758,385
2 873,858
1% 7,356,610 7,665,300 308,690
= 5,875,000
= 725,297
2 756,313
H3 5,637,500 5,691,250 53,750
= 4,510,000
= 563,750
2 563,750
301 5,637,500 5,691,250 53,750
=2 4,510,000
& 563,750
2 563,750
01 ABI2E 5,637,500 5,691,250 53,750
5,637,500
= 4,510,000
= 563,750
2 563,750
H3 1,455,000 1,541,250 786,250
= 1,164,000
= 145,500
2 145,500
301 1,325,000 1,421,250 96,250
= 1,060,000
= 132,500
2 132,500
0f 1,325,000 1,421,250 £96,250
1,325,000
= 1,060,000
= 132,500
2 132,500
307 130,000 120,000 10,000
= 104,000
= 13,000
2 13,000
05 QI2t9IEtz 130,000 120,000 10,000
@FNs230 Y+ 130,000
=2 104,000
= 13,000
2 13,000
RS20 160,000 126,250 33,750
=2 128,000
= 9,600
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A =M TR0
Hu: 2D ZMBEINE 2
S CIES e crol @R )
M- (B H) - HEAY - B2 Al OH &EIE H =2
=] i o ) . TANs a3 &= 04| AFOH U=sa
& 9,975
[ 23,275
EASZH 20,626 22,680 A2,054
= 16,500
& 1,238
[ 2,888
301 et Az 20,626 22,680 A2,054
= 16,500
& 1,238
= 2,888
01 MIE2EEE =63 20,626 22,680 A2,054
(OPNE=EE=F=DN] 20,626
= 16,500
& 1,238
= 2,888
A5 =2 NEAY 18,667 28,000 29,333
& 5,600
[ 13,067
307 QI2t01A 18,667 28,000 29,333
& 5,600
= 13,067
05 QIZtRAEF 18,667 28,000 A9,333
OHASE EclXA 18,667
= 5,600
= 13,067
ItArPE &0 K& 43,750 180,000 A 136,250
= 35,000
= 8,750
307 BI2t0l™ 43,750 180,000 A 136,250
= 35,000
= 8,750
05 QIZtRIEF 43,750 180,000 A 136,250
@ItAIZtE &<0] At 43,750
= 35,000
= 8,750
HEA E RFHIMEIG ES 10,000 10,000 0
= 2,500
= 7,500
201 Let29h| 5,000 5,000 0
01 AbR2t2lH| 5,000 5,000 0
®OR2HAD ALK 2,500,000& 23| 5,000
301 LetEAZ 3,000 3,000 0
= 1,500
= 1,500
01 MIEEE=63 3,000 3,000 0
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401 AlZEHIZ LYl 405,200 480,000 274,800
01 Al&HI 405,200 480,000 274,800
@LHE CCTVEZEX
1,500,000 * 1200 2 % 12CH 216,000
@LHE CCTVEX 4,300,000 *4JH 2~ 11CH 189,200
HESAEH 2 433,010 515,160 282,150
DIRISHE Z2AAE 2F 4,800 3,600 1,200
201 LEH2HH| 4,800 3,600 1,200
02 3223l 4,800 3,600 1,200
(OR=PAE=E==YNE=J=3 400,000 12& 4,800
w29 83,700 88,000 24,300
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A XS

M xS
el BEEARH 2 (el ®
S HEM O (S H) - HIRAY - BAS Of) & o4 dE = Hm=2
- * T * - = (=} o = O:H{ﬂ,% Wsa
201 LEt2AY| 83,700 82,500 1,200
02 2222 H| 83,700 82,500 1,200
@ABINFIR2 4,500,000 ~12& 54,000
OHEEA RUWHWED SXEZH
950,000 «11& 10,450
@20 WED(SH AL A)ES X 22|
1,750,000& ~11& 19,250
MIAEESEY 29 283,130 354,780 AT71,650
201 LBt2AH| 283,130 294,780 A 11,650
01 AR 2t2ld] 15,000 12,000 3,000
@A ATENH 2 30, 000& *500USER 15,000
02 2224 H| 268, 130 282,780 A 14,650
@HOIEHAE2SNE 22 16,000,000 x12& 192,000
OheF2t TNESEAU 2
2,600,000 x12& 31,200
@A S3HEY|(VPN)S X 22| 450,000 «11& 4,950
@OFRAUWEAAZ 0| &L B X H|
2,500,000& 23| 5,000
@A (SH AIGA BHIAMSXE S
600,000 ~11& 6,600
OUARX SAEL 130,000 *11& 1,430
@SB OotZH|(IPS) X284 400,000 «11& 4,400
OUIELEHI (M= 13 Snitch) DX 2~
1,650,000 ~11& 18, 150
©31 803 RH|(ATM) SXEA
400,000 +x11& 4,400
HEEAMY 29 50,520 57,200 6,680
201 Bt A | 48,520 53,200 N4 680
01 AR 2t2ld] 4,000 4,000 0
O E=22IE ARE 500,000& *43| 2,000
OSNNADE 500,000 *43| 2,000
02 22244 44 /520 49,200 N4 680
OHBEA M2 @3 300,000 x12& 3,600
OHHEA AEFH 22 1,700,000& ~12& 20,400
@OFNEZINAU AIZ2E 1,200,000 x12& 14,400
®0sSNT22 300,000 x12& 3,600
@OAINE CH)| UBtEg 2 A3 M
50,000 *43| M *63| 1,200
@EAAH| ZAAAE 22 110,000 x12& 1,320
405 XHAHSR S HI 2,000 4,000 A2,000
01 XA Z2EF S| 2,000 4,000 A2,000
®0ISEAID1D](4TH) 500,000 =4 CH 2,000
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A XS
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Sl BHSAZY 2 (B9 &2
_ _ MNuE o
SA BB H(BH) - MBAY - B2 O A+ 24 il i~ o HRs2
sasloa 29 300 300 0
201 Y2 Y| 300 300 0
02 =2l 300 300 0
@3tatslel ZEIS Y 300
SN 2R Y| 10,560 11,280 AT20
202 01l 10,560 11,280 AT20
01 =2Ujoit| 10,560 11,280 AT20
HESAYY 42 7 9,360
OHESA ABH AA 7 1,200
2HLAH 2L 1,045,924 92,820 953,104
= 33, 150
2 1,012,774
szl 1,045,924 92,820 953,104
= 33,150
2 1,012,774
szl 979,624 92,820 886,804
403 RXISHSKHZO0|H 979,624 92,820 886,804
02 2IIZSOTHBHCHE AL b 979,624 92,820 886,804
@N53 MIEAXSLAHLY 223 979,624
OFHl L ALY 216,756
OAH - A 19,108
ORFHIE 743,760
53 MRS AKX L () 66,300 0 66,300
= 33, 150
2 33, 150
201 Y2 Y| 52,750 0 52,750
= 26,375
2 26,375
01 AtR 22/t 52,750 0 52,750
@H53 MRSAIXYLH = 52,750
= 26,375
2 26,375
202 01l 13,550 0 13,550
= 6,775
= 6,775
01 =401t 13,550 0 13,550
@H53 MREAX YL =X 13,550
& 6,775
2 6,775
SH2 A (X H D) 8,146,385 8,175,563 £29,178
ol 2 | 8,091,320 8,117,638 ~26,318
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X XH .
S Tt

el

AbXl e & ot
HY2SIH(MHXSEE )
eleE =g

SN EB -GS - MBAY - BES are ko e
SOIAHAZZ2 X 212Ad| 83,775 82,858 917
101 el H] 83,775 82,858 917
03 RIIHA2ZZNE S 83,775 82,858 917
O Fdi=3=5{ 17,946
oJlga 44 1603 »1H #253L 11,173
o&N= 11,173,000 *4/12 3,725
ORsSsgdsY 44,1603 «52& 2,297
OUXtRETIH=Y 44,1603 17 751
OF =¥~ 16,329
oJl2g 40,1803 »1H #253& 10, 166
oaN= 10, 166,000 *4/12 3,389
ORsSsgdsY 40,1803 x1H #52 2,090
OUXREsIHY 40,1803 x1Z » 17 684
@=2UH0oHI(ZZ) 1,500
@EAZ(ZZ) 10,000
@4HEE (5Z) 38,000
O=0H=RE= 250,000,000 *4.5% 11,250
OZRALBEHRELES 250,000,000 *4.7% 11,750
OLEEEZRES 250,000, 000& *2.5% 6,250
OdAMNEEESFEE =S 250,000,000 *3.5% 8,750
XY (2E) 110,265 102,075 8,190
203 ¥R =&l 110,265 102,075 8,190
01 D22 HRF4] 89, 100 81,000 8,100
@J22d & R2)|2HE X 2| 89,100
oz 52,800
oR=Z+ 36,300
02 HAAINMHRF=EHI 16,965 16,875 90
=30 FOIZ2Y, MsUal, HJAAIIE F
a]] 45,0003 #3773 16,965
04 BEANSSHRFLH 4,200 4,200 0
OEN2Y 28 =X 4,200
ol 350,000 «12& 4,200
ANZ2ERAZ2 R+ () 1,737,578 1,715,608 21,970
101 14| 1,737,578 1,715,608 21,970
01 = 1,737,578 1,715,608 21,970
®5= 9,796& 25 *30 Al 2+ 12 88, 164
OPNE==T, 9,603 «3H +30Al 2tx12& 10,372
Of=1 8,312& «152H «30Al 2t + 123 454,833
(OPNE=VA} 7,8013 %27 B «30Al 2128 75,826
OFg= 7,4573+172H +x30A1 2+« 128 461,738
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A HH2FGUI(KXHE L)
chel: ol 2oyl chol H Rl
SN EY O (BH) - MRAY - BLS Bl =2
Gil &t 0
®@8= 6,682 x101H *30A| 2t 12 242,958
®9= 5,993& x70H »30Al 2t 12 151,024
®J|s6= 8,312 x2H »30Al 2tx 12 5,985
®Jls7= 7,457 *x24B *30A| 2+x 123 64,429
®J|s8= 6,682 x65% *30 Al 2+ x 123 156,359
®J1s9= 5,993& x12H »30Al 2+ 12 25,890
2(5Z) ,644,395 1,649,862 A5, 467
IN3 ,644,395 1,649,862 A5, 467
A= ,644,395 1,649,862 N5, 467
OF=BnI F=g0: = ,644,395
04= 2,978,900 3% *130% 11,618
Ob5= 2,581,400 *26 % *130% 87,252
O6= 2,210,900 » 152 x130% 436,874
Oo7= 1,862,700 * 173X x130% 418,922
08= 1,537,000& * 103 x130% 205,805
09= 1,289,900 71 x130% 119,058
0Jls6= 2,210,900 23 *130% 5,749
OJls7= 1,862,700 x249 x130% 58,117
0Jl=s8= 1,537,000 70 *130% 139,867
019,102 1,289,900 * 12 *130% 20,123
OXE&E& 2,721,100 3% *130% 10,613
O XI& At 1,895,000 279 x130% 66,515
OHAANURSAD| HARE
1,365,000 *36H x130% 63,882
o2 U HE2S(52) 4,513,387 4,565,315 251,928
04 H==RHE3S 4,163,923 4,215,851 251,928
01 H3RE3 3,504,438 3,556,366 A51,928
@ILAAILLZ  17,390,530,0002%8.751% 521,846
CEEELEREHE
17,390,530,000& 4 .3944% 764,210
CEETTEEIER
17,390,530, 000& 6. 785% , 179,948
O3RN ELRE S
17,390,530,000& *0.221% 38,434
SPALEEZ 659,485 659,485 0
@OHLEEREZ 29,441,258,000& *2.24% 659,485
2013 231,464 231,464 0
£03 231,464 231,464 0
@322 2000 H&=z 231,464
o120l & 118,000 118,000 0
HAZ2R=3 118,000 118,000 0
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DS AR OHE 1t

[e3]

.o (3) - MBEAY - BaS 0l aF ol ad s HRZ2
0] & o8
nj; 10,941,859 6,875,702 4,066,157
= 140,198
& 1,173,000
= 141,900
iy 9,486,761
=& 2 X 4,890,238 2,774,781 2,115,457
MeEAIE =& 3,611,900 1,013,000 2,598,900
St A AE A9 1,000,000 0 1,000,000
A&EBIYL 2] 1,000,000 0 1,000,000
INE=1s] 977,100 0 977,100
OAN2SUE WL Al A=z
e 977,100
el dl 16,600 0 16,600
ONSHE D Al S
e 16,600
A& 2 0HYI 6,300 0 6,300
OAN2SUE W Al M=z
A 6,300
ES2EX =4 2,501,500 1,000,000 1,501,500
B2 AH| 1,500 0 1,500
S329H| 1,500 0 1,500
OSSAERIHA 352= 1,500
A&HI Y20 2,500,000 1,000,000 1,500,000
Al & H| 2,463,250 985,500 1,477,750
O=SEeEZF N 2,463,250
22l bl 27,750 10,900 16,850
O=SSEZSIHA =4 27,750
A& 20| 9,000 3,600 5,400
OSEeEZF A 9,000
X N2 AHS 52,000 0 52,000
282 AL 2,000 0 2,000
=229 2,000 0 2,000
033X 29 2,000
A&EBIYL 20 50,000 0 50,000
Al & B 49,640 0 49,640
OMETSAA(0FRE) 49,640
A& 20| 360 0 360
OMEHSAIE(OFRE) 360
XEs 34,000 0 34,000
82 AL 34,000 0 34,000
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202 01| 19,400 9,000 10,400
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@IARX =& 14,000
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@AJIES NASSI|EX 5,000
MY ALY T 1,278,338 1,761,781 483,443
SHNCIZEEATL SLA 870,000 870,000 0
306 2013 870,000 870,000 0
01 2013 870,000 870,000 0
@EHNCIA AL S4 870,000
ERMY - ALV 2Y 266,438 200,981 65,457
101 QI214| 35,338 33,981 1,357
04 JILH22XSES 35,338 33,981 1,357
@E A2 12,152
oJl=2 36,6902 * 12§ x260L 9,540
e IS 36,6902 124 %52 1,908
OURRBEINEY 36,6002+ 12 +11 404
o=yl 150,0002 *12§ %25 300
CEEICES 23,186
0Jl=3 34,9602 2 *260 18,180
ORIEULY 34,9608 *2 & +52 3,636
OUNRBEINEY 34,9602 x2+ 11 770
om =yl 150,0002 +224 x25] 600
201 Ygr2y| 167,100 135,000 32,100
01 At 2teldl 20,000 15,000 5,000
@nsp2y ARl 20,000
02 BZ2YY| 97,100 100,000 A2,900
enszey 29| 97,100
03 #AI2H 50,000 20,000 30,000
@©UIAL DB I FAI 50,000
206 THEH 1,000 0 1,000
01 M2l 1,000 0 1,000
@M YA ]S THEY 1,000
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SN HH G (EH) - MBAY - BYS Ak ais s
Ofl &4 4
01 Al&HI 30,000 0 30,000
@z 2l 223 At 30,000
daZelAtg =& 260,460 424,000 A 163,540
s =228 o 260,460 404,000 A 143,540
2SS e 2 Ex 207,500 260,000 252,500
401 A &HIL 2048 207,500 260,000 252,500
01 Al&Hl 207,500 260,000 A52,500
@II2S ExEUIAIY 80,000& 250 20,000
@it2s o4 187,500
Odl AXI(SY) 51,500
OMY TZH JtZ23 36,800
-dFREE 1,000,000& 135 13,000
- Z2HEIT = 3,400, 000& 74 2 23,800
odd Jt2(8eh)s 900,000& *13S 11,700
OLEDIIZS WA 2,500,000 =354 87,500
DIZEXES 98t 2DS Hy| 42,000 45,000 A3,000
201 LBt A 2,000 0 2,000
02 3224l 2,000 0 2,000
@HOIE 2421 3 2,000
401 A &HIYL 2048 40,000 40,000 0
01 Al&H| 40,000 40,000 0
@E2H St Fhl 4,000, 000& 104 40,000
HRAANY 2F 3 10,960 9,000 1,960
201 LetH| 1,960 0 1,960
01 AbR2t2lH| 1,960 0 1,960
@3S 23 1,960
OfIds &EA&H 70,000% 7 H *43] 1,960
202 O4Hl 9,000 9,000 0
01 =Wl 9,000 9,000 0
®©= L1 8I 9,000
OtSCHE XIZ Al JHe 5,673,669 3,595,910 2,077,759
= 140,198
= 1,173,000
L= 141,900
i 4,218,571
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= 140,198
& 1,173,000
& 141,900
= 4,146,350
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@©SH =X AM3e HASZE &l 24,000
@s9H #21,22] =g &XI(L=1,000m) 50,000
@OUH 222 =2+ 10,000
@©u SOt E X E HH| 20,000
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= 1,173,000
= 503,000
401 &8IS0 1,676,000 300,000 1,376,000
& 1,173,000
= 503,000
01 Al&H| 1,669, 966 300,000 1,369, 966
COsEMESATHIAISG (2XIIHE) 1,669, 966
= 1,168,777
= 501,189
03 Al =20HY| 6,034 0 6,034
SEMESAIHIAIY (XN 6,034
= 4,223
= 1,811
Otsetd 2 & 1,006,885 616,000 390,885
401 AIEHIZ 2 ,006,885 616,000 390,885
01 Al&t| 998,000 610,000 388,000
@3tEH ZE1ie &eta3 sZ I E(L=400m) 52,000
@stEX &E2e| A=Z3 0hS b2 & (L=400m 40,000
@OFEH 22 T2HYSI BA(A=20m 3,000
OUEH 222 A =2 ¥ S22 H
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SAFCAHME 23 62,390 37,270 25,120

201 LetEHH| 22,300 22,300 0

01 AtR22/Hl 22,300 7,300 15,000
@=AZAALET A2 B2 7,300
OSARIIZSAHA 22 15,000

202 O4Hl 10,080 10,080 0

01 =Yl 10,080 10,080 0
@©SAZHYRFE Ol 10,080

301 YptBazg 4,890 4,890 0

12 JIEtE2 4= 4,890 4,890 0
OHISAHE ZL AR 4,890
(OF=1] 70,000 *3H *202 4,200
O OdH| 23,0003 *3H x10& 690

405 AHoHESHI 25,120 0 25,120

01 AL S EFSHI 25,120 0 25,120

@542l M2 0ls4 MO X

1,570,000& =164 25,120

HUHSR 2 42,600 35,820 6,780

201 Ler=2dd 24,200 19,100 5,100

01 AR 22 12,200 8,000 4,200
@AY 7,000
OF; /IS5 70,0003 10 #53] 3,500
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DMt
DA FHME & AarE]
DA - FAHNE WARY

A BRI (BH) - NEAY - BaS Abol e =2t
@23 MANE D 2 1,700& *1,0004 1,700
02 ss2g9H| 12,000 11,100 900
@OHALLRFA SS2FH| 12,000
202 (4 8,400 6,720 1,680
01 2| 8,400 6,720 1,680
@OHLHR =& 8,400
405 KHAHFE S 10,000 10,000 0
01 AL =EF SHI 10,000 10,000 0
@HIEFY(ZEE) 10,000
OANRES A 4,200
-38 210,000& 102 2,100
-45 140,000& »152¢ 2,100
OARE 2Kt 4,500
-13 120,000& *102+ 1,200
-2 110,000& *302+ 3,300
OMHIR 1,300
-38 130,000& 102+ 1,300
Hol THAaE 22 422,815 52,540 370,275
S A 22| 422,815 52,540 370,275
201 Et24| 5,400 5,400 0
01 At Zelbl 5,400 5,400 0
@OMAI2AH AI22teld] 5,400
202 (4 5,040 5,040 0
01 2L odb] 5,040 5,040 0
@2 a2 FA 5,040
207 A FoHed| 412,375 0 412,375
01 A3 E9H| 412,375 0 412,375
®O= - SFMHA AEHZAF SH 412,375
IJg&el ,385,990 693,868 692,122
HA AIEINA 663,000 100,000 563,000
401 AlEHIL 20| 663,000 100,000 563,000
01 Al&HI 663,000 100,000 563,000
OZE AN YWHEIA|AE A 330,000
@OZFH AN HUBIAIAE X &I Z AL 44,000
@O EAF ZEI|F2(LED) A =3 At 44,000
@OZEHAI SEA 2FIA 55,000
@OZEHAF TAIJIA HELS AL 85,000
OANH 2= SHEOIRAA = 25,000
@OZEAI L2 oA 30,000
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SN
=L |

cels ¥

SELI
o - SIHMSE ¥ A2
Ard & 2te|

SN HH G (EH) - MBAY - BYS 01l &k o Soe s

@JIE EAb |RX2el At 50,000

NI 367,780 392,702 N24,922

201 LetEIH| 361,740 387,662 A25,922

01 AFR 22l 32,840 13,220 19,620
@OEA2E AR 22l 32,840

02 =234l 328,900 374,442 A45,542
@EAMN S22 ¥ HA 246,000
@O A HHEHH| 32,900
@OFE AL A2 EHI | X4 50,000

202 (4| 5,040 5,040 0

01 =Wl 5,040 5,040 0
OF=PNR= ) 5,040

405 KHAHFSHI 1,000 0 1,000

01 ML ESHSHI 1,000 0 1,000
@©XCIZDII(1TH) 1,000

2EXE 2l 355,210 201, 166 154,044

201 LBt 160,990 181,006 A20,016

01 AFR 22l 9,000 1,500 7,500
OXH 2el € 2% 2,000
OUHESEH(HA) EEEZD MH 7,000

02 =234l 151,990 179,506 AN27,516
O 3223 &£ A 18,990
@i S50 £ 7l 133,000

202 O4Hl 18,720 20, 160 A 1,440

01 =LA bl 18,720 20,160 A 1,440
@OAEXSY 2 18,720

405 Kot S| 175,500 0 175,500

01 T ESSHSHI 175,500 0 175,500
@R2&I|(500) 2,500
©OUHEHA(IH) 173,000

HY2AZU (HR) 29,451,790 29,836,285 A 384,495
= 43,422
= 29,408, 368

lEIZAH(BZ) 29,334,121 29,720,435 A 386,314
= 43,422
= 29,290,699

SR0HH(BE) 29,218,657 29,656,661 A438,004

101 elH| 27,823,837 28,202,321 A378,484

01 E= 25,984,114 26,119,487 A~ 135,373
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SH: W2
M HHSYFY (W2
SHel: ol 2YH|(5T) (Er9):
SA-BH - OA(B) - HRAY - BE2 O &t 04 e HDE2
O] & o8

O}=3= 15,000,456
OF=RA(¢S) 69,836,000& 69,836
043 (288 ) 3,235,600 x4H 128 155,309
052(295 %) 2,940,60021 %25 122 882, 180
OXEZ& (245 E) 3,397,400 x38 x 128 122,307
062 (263 3) 2,457,200& x149H « 122 4,393,474
OXIZAH20& S) 2,091,400 »27H » 123 677,614
ora(16s=s) 1,907, 100& 170H « 128 3,890,484
082(85%) 1,330, 90021 %1012« 122 1,613,051
092(55%) 1,028, 90021 %702 * 122 864,276
0Jls6=(2953) 2,555,600 x2H 128 61,335
OJls7=2(2353) 2,164,500 x24H » 123 623,376
0Jls8=(1958) 1,821,700 x65& 123 1,420,926
0Jls9=(2158) 1,714,300 x 11+ 123 226,288
©a02 1,250,038
ORI E =y 15,000,456, 000 *1/12*23] *50% 1,250,038
OEHIEERYS 18,215
OMBHHAMYL 6.568
-7s 56,1753 x1H+302 1,686
- 82 50,3373 x1H+302 1,511
- 21573 56, 1752 %224 x302 3,371
OS2 AR 11,647
- 6= 62,6153 x1H 452 2,818
- 8= 50,3373 x1H 452 2,266
-Jls8s 50,3373 x2H 452 4,531
- 71593 45,1472 %12 452 2,082
@oRI224g 6.974
OMEHIAG A 6,974
A= 2,486 1B 4N 2tx 152+ 123 1,790
- 8= 2,227 3 x 1B 4N 2tx 152+ 123 1,604
-Jls7s 2,486 «2H «4A| 2tx 152 x 123 3,580
Op[E-F8= 480,000
Ot Xt 40,0003 «500E « 12 240,000
(OR i) =) 20,0002 #1,000F «12& 240,000
OXNHSHI B 140,697
osstul 51,1702 x80& 4] 16,375
ounsstu 310,805& *100H *43] 124,322
OFERR=SIIN= 636,600
02540l & 130,000 «150H « 123 234,000
020~25E 018t 110,000& 1002 12 132,000
0 15~20& 0182t 80,000& x170H «12& 163,200
O10~154018t 60,000 x70 12 50,400
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XS 1t
Y 2HGZ U (M2)
IR 2IHI(EZ)
S HE - S(EH) - NRAY - BES sk oy S
0f 4 o
O5~1040|gt 50,000 x5 x12& 57,000
Exl2RsE 21,840
OZXl 50,0003 x2ZE «12& 1,200
(OX=PN 40,0002 x 13+ 123 6,240
OgX 30,000 x40+ 123 14,400
@AE2R+E 45,840
oLs 50,000& x50 x12& 30,000
OF=F> 40,0003 *33E «12& 15,840
CORHSRA+E 50,0003 x6ZE x12& 3,600
@OEFQA 20,000 x2H 128 480
COUHSSFA+E 309, 162
o4=2U= 2,919,3003 «6H 122 *4.8% 10,090
oszl= 2,457 ,200& *70B 123 x4 .8% 99,075
OXNE2U= 2,042,300%20H 123 x4 .8% 23,528
oe=U< 1,949,700& x95H «12& *4.8% 106,688
o7su= 1,273,2002 x20H « 123 *4 . 8% 14,668
os=l= 973,900 10E «12& x4.8% 5,610
OJls6=Ut= 2,132,700 «5H 122 +4.8% 6,143
OJls7=U= 1,786, 1002 *15H 12 x4 .8% 15,432
OoJlssEU= 1,616,200 *30H 12 *4.8% 27,928
@A R+H 3,235,600 x4 H 123 9% 13,978
SR 402,912
OJlsgd!R=Y 77,760
- N2 60,0003 x3E «12& 2,160
-52, KNEAt 50,0003 32« 12& 19,200
-6~72 30,000& 120 »12& 43,200
-8=0lot 20,000 x55H 123 13,200
OJl=gdR+EItt=z 36,000
- BB (13) 30,0003 90 x12& 32,400
- XHH2E(22) 20,0003 15«12 3,600
OA=YRSA+E 35,640
- 2 A 950,000& 1H~ 123 11,400
-8AH9R 50,000 39 123 23,400
- =2 At 70,000 x1H «12& 840
(OPNE PR SE =y 40,0003 x25¥ «12& 12,000
ORAHRE 30,0003 *70E 122 25,200
OdMHRLY 3,960
- 35014 30,000 x1H«12& 360
- 5014 50,000 x6H «12& 3,600
(OF=ul=E L=y 70,0003 x196E x 122 164,640
O¥el=¢ 13,872
- AX#EE(72) 38,0003 x1H+12& 456
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A WD
DU UHSAAH (P
Bl olEe gl (52) (Erel @ e
RA B SA(BH) - NRAY - B 01 e HRE2
- ALYMHIHTS) 38,0008 %1% 122 456
- MBEHAANY A 120, 0002192 128 12,960
oA E 7,440
-53 80,0008 2% » 12 1,920
-62 60,0002 *1% » 12 720
- 72015t 50,0002 8% » 128 4,800
OANZIZNY R4+ (MBI =TH) 23,040
oormBRlgY Y 10,0002 ¥4 » 12 480
OABISX P4 (Lern) 2,830
OEIERES= 50,000, 0002 * 122 600,000
OSEN+Y 500,008 #10% » 12 60,000
©= US| 130, 0008470124128 1,093,560
OImELES:] 1,061,280
0453 (&%) 140,000 3124 %128 52,080
06 - 72 (4€) 130, 0002 +37024 128 577,200
08 - 93 (4¢) 120, 0008 x3002 128 432,000
@YEEIM 15,000,456, 0008 *1/12560%+23] 1,500,046
@IPA Kb
15,000,456, 00081 1/12+16.7%+123] 2,505,077
OISBIERNI
15,000,456, 0008 *1/12+1/30%202 833,359
02 JIENES 1,839,723 2,082,834 A243,111
OHANYES A 207,300
0=3(0s%) 1,855,600 +524 128 111,336
04013 9,278
-M24%  111,336,0002 51/ 12+50%:23] 9,278
OANLADRAE 66828 +5H+30AI 2H+128 12,028
oplE+g 30,0008 *12 » 122 360
op/E RS 4,320
L 40,0002 *5% » 128 2,400
- Rt 20,0002 +8% » 128 1,920
ORBHEEAY 1,244
-1ssD 310,8058! %12 »43| 1,244
OB2HYIB 5,880
- 251014 130, 00021 +324 128 4,680
- 5~ 104 50,0002 22 » 128 1,200
oJlsyesg 20,0002 5% » 128 1,200
OS4X224E(SX) 40,0002 +32x128 1,440
oe s 50,0008 5 » 12 3,000
oZAZ A 130, 00021 +524 128 7,800
OnSEEH 120, 00021 +524 128 7,200
OXZEEH| 105, 00021 +524 128 6,300
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SH: R
M HY2ITHI(HR)
Eel: AHA2EHI(ZZ) (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
OdE=ItH 111,336, 000& *1/12x60%+*22] 11,134
oBIS bIETE
111,336,000 *1/12%16. 7%= 123] 18,594
OHIIEAHl 111,336,000 x1/12%1/30%20 6,186
OFsE=R=E=y 1,096,879
o==(1988) 1,725,600 x28F x 12 579,802
od0i= 48,317
-d32=s4 579,802,000 1/ 12%50%*23! 48,317
OANZAIZE+E  6,3423+28H«30A 2+« 123 63,928
O0r2Rag (MeEFAIHA)
1A 1E 44 2H4 128 102
O =] 5,734
- 2SAECIAIR A 47,7753 x2B »454 4,300
- HEEIAME A 47,7753 x1E*30 1,434
ONExE 28,080
- B Xt 40,0003 «26H ~ 128 12,480
- B20tE 20,0003 x65E x12& 15,600
OHEHIEXRSE 10,136
-s8u 51,1703 7 x43] 1,433
-uSs 310,805& »7& 42| 8,703
odZxEitts 30,480
- 2538014 130,000& «4H »12& 6,240
-20~254 018t 110,000 x5F x12& 6,600
- 15~20 0] 8¢ 80,000 x14H 12 13,440
-5~10& 0|8+ 50,000 x7E*12& 4,200
ol &=t 50,0002 x17H«12& 10,200
osH=ZR=¢ 70,000 x 11~ 123 9,240
OS=X28+E 2,040
-2X 40,0003 «2Z «12& 960
- X 30,000 x3& »12& 1,080
O¥el=¢ 1,440
- HEEIAME A 120,000 x1E «12& 1,440
OZ=ENH M= 1,080
-XE 30,0003 «3%H =122 1,080
(ORSILE= Ea 130,000& »28ZF 12& 43,680
OusS2 &t 120,000 28 x 12 40,320
OESE= -] 105,000 »28H *x12& 35,280
OdE =t 579,801,600% x1/12+60%*22] 57,981
O AKX 24|
579,801,600 *1/12%16. 7%+ 122l 96,827
OXItE Al 579,801,600 *1/12%1/30+20 32,212
@A A= (CHS) 40,051
OF=F=) 31,167
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NN,
HY2AZHI(HRD)
lARAH(BZ) el d
SH - BH - S(S) - NEMY - BES sy e 52
O&FA =4 130,000& 1 »12& 1,560
OXgExH| 155,000& 1 =123 1,860
oJEs=¢ 960
- B X+ 40,0008 «1& 122 480
- RIE 20,000 x2H «12& 480
O &=t 50,000& x1E*12E 600
OAZAZR=E  6,033F 1 +30AI 2tx128 2,172
OXItEAHl 31,167,000 *1/12%1/30+20 1,732
©3A=2fA 13,517
OANZtI284E  5,4303A+2E30Al 2t+12& 3,917
oOgdasdds 400,000 »2E + 123 9,600
OSSEHAA dE+=E 700,000 «22F 12 184,800
OF=R oSl Rty 700,000& x5~ 122 42,000
OF:-10 IS ESE=, 200,000
@aRgE 2| 55,176
09= 919,600& »5H 122 55,176
X2 LAY 1,394,820 1,454,340 59,520
MG HRH 67,200 73,800 6,600
@z 650,000& 1~ 123 7,800
OF Srvages 400,000& x 1+ 123 4,800
®4= 13,200
oz 400,000 x 18«12 4,800
OE=J|2 350,000 »2H ~ 123 8,400
OF=1 39,000
ol 150,000 «11H 128 19,800
OEXJ|& 100,000 «16H x 128 19,200
®b= 100,000& ~2E 123 2,400
g2 A 1,078,620 1,080,540 A 1,920
@z 500,000& 1 ~12& 6,000
OF St 450,000& x 12+ 123 5,400
@4z, Az (4=4Y) 400,000& 3+ 122 14,400
@52, N2 (5=24g) 250,000 27128 81,000
@62, XA 155,000 «178E 123 331,080
OFg= 140,000& «193H « 123 324,240
@72 (ItA) 440,000& x 1+ 123 5,280
®8=, 9= 105,000& «247H 123 311,220
03 SZYR=AE=H| 249,000 300,000 251,000
OJu REIR-—"g==}:] 50,0003 *4156F « 123 249,000
SRAAAL (KBS D) 63, 130 0 63,130
= 10,600
= 52,530
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SN BALS
Ha: MEEY 2H
el BAMHES EEREED
_ HE T
SA - HH . CA(BH) - HREAY - BY2 Aol il b o HRs2
BA25 7,634,261 7,520,654 113,607
=2 1,293,600
= 226,260
2 6,114,401
MENEE 2H 248,814 233,062 15,752
=2 17,600
= 36,000
2 195,214
BANLEE 138,814 140,062 A1,248
= 29,500
2 109,314
N5 ERY 1S 9,200 9,200 0
201 Y2 Y| 4,200 4,200 0
01 AtRZelt] 4,200 4,200 0
ONIEs 28 U 222 N 4,200
203 R EAY| 3,000 3,000 0
03 AIMZ=R ARSI 3,000 3,000 0
@BAANHAD =X 3,000
301 YBrEAS 2,000 2,000 0
10 BALAHIBAS 2,000 2,000 0
ONUESNCRY DE 100,008 *102*23] 2,000
BAWLLLZ ANLSTA 17,480 17,055 425
101 o121l 17,480 17,055 425
04 JIAH22NSES 17,480 17,055 425
@HAWHLLZ SUUMALS TAF
34,9602 +1024 502 17,480
BALA 29 98,334 98,334 0
= 29,500
2 68,834
101 Q1244 98,334 98,334 0
= 29,500
2 68,834
04 JIAH2RRSES 98,334 98,334 0
@UASADAY 29 98,334
= 29,500
2 68,834
ARIIR THIEAIAR AlL | 3,000 4,673 A1,673
401 AE6IYL S0 3,000 4,673 A1,673
01 Al&H| 3,000 4,673 A1,673
@EI| S & 3,000
CHel ALY 22| 10,800 10,800 0
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FA B2
I dged 2
S-S Fa k- (98
_ _ P NE e
2B SR(E) - MRAY - BES ko4 Ol A o HluSZ
202 044 10,800 10,800 0
01 22U 10,800 10,800 0
@OYR= 10,800
OllESAE B3 & 110,000 93,000 17,000
= 17,600
= 6,500
= 85,900
Ot ==01 2 & 30,000 30,000 0
= 6,500
= 23,500
301 et 30,000 30,000 0
= 6,500
o 23,500
12 JIEt2 30,000 30,000 0
@Ok = LlolE4 30,000
= 6,500
= 23,500
Ords= I 80,000 60,000 20,000
= 17,600
= 62,400
301 LEtEHS 20,000 0 20,000
12 JIEt2 4= 20,000 0 20,000
@RS E & 243 20,000
402 2IZ2tt=01d 60,000 60,000 0
= 17,600
= 42,400
01 212t 60,000 60,000 0
@O0t 35,200
= 17,600
Ea 17,600
@0t HOH 2 AFS (KR 24,800
SIIE HA 38,000 10,000 28,000
= 3,000
= 35,000
tolgtd e 32,000 10,000 22,000
XSt HhE 23,000 1,000 22,000
305 BH&= 1,000 1,000 0
01 Biat= 1,000 1,000 0
OJI]; R Eol 243
500,000 »2CH 1,000
405 Kok 22,000 0 22,000
01 Xk&t 22,000 0 22,000
© K 16,000
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= 1,500
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< 5,040
= 11,760
402 2IZ2tt=0ld 16,800 21,000 N4,200
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< 9,000
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01 2ItXEE X 30,000 42,000 A 12,000

- 129 -




FA: sESLIL
R =oiE X
S Tt =

C9l: SIIAS B0 ¥ FYNH X (crel @2
SN HB SR (BIH) - A - B S 0l &b S D=2
- =] = T - = S = Ol =5 0:”/&,% Lsa
CEEERENENEEY 30,000
= 9,000
= 21,000
HBESMSASETY| 12,500 36,750 24,250
= 3,750
= 8,750
301 YerP A 12,500 36,750 24,250
= 3,750
= 8,750
NIEEEERYE 12,500 36,750 24,250
@HBHEAS AEETY| 12,500
& 3,750
= 8,750
BB =ARH 440,200 378,140 62,060
201 Ypre | 6,000 3,000 3,000
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OSLSOFA AAY N 11,628
= 3,420
2 8,208
SHEE 2% 620,000 420,000 200,000
201 Ygreg| 20,000 20,000 0
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@OZZUSH (YA ) SEH 1,386,000
2EOSM C2MAEINSZ AL 400,000 0 400,000
401 Al&HI LS 400,000 0 400,000
01 Al&H] 397,480 0 397,480
@REZISH T2 397,480
03 Al&=204HI 2,520 0 2,520
@2ZISH T2 2,520
DNEASHHH 1,212,000 2,128,000 A916,000
2 606,000
= 606,000
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S LEE ST 332,000 346,000 14,000
2 166,000
2 166,000
401 Al&HIL 20| 332,000 346,000 14,000
z 166,000
2 166,000
01 Al&H] 332,000 343,509 A11,509
efgEz 2XNHM 332,000
z 166,000
2 166,000
DEAD HSE HA 356,000 168,000 188,000
z 178,000
2 178,000
401 AlAHIL 20| 356,000 168,000 88,000
z 178,000
2 178,000
01 Al&H] 356,000 168,000 188,000
@DEAMD RS2 K4 356,000
z 178,000
2 178,000
VENEEEEISTY 524,000 1,114,000 A590,000
z 262,000
= 262,000
401 Al&HIL 20| 524,000 1,114,000 A590,000
z 262,000
2 262,000
01 Al&H] 524,000 1,114,000 590,000
CNVENEESEIST 524,000
z 262,000
2 262,000
=HEZZHY 3,050,000 7,550,000 4,500,000
SEN LUZH(3EM45H) TR U THBA 700,000 0 700,000
401 Al&HIL 20| 700,000 0 700,000
01 Al&H] 695,590 0 695,590
@FEN CUZH(FE4EH) TREY U
Ty 695,590
03 Al&=THYl 4,410 0 4,410
@ EN CUZH(FE04EH) TREY U
oI 4,410
HES 224 (UHE2055)52%, T8 300,000 0 300,000
401 Al&HIL 20| 300,000 0 300,000
01 Al&H] 300,000 0 300,000
QUEN 2BH(HE053) T2 = 28 300,000

- 207 -




SN HES T
HH: cRy HE
o9 S0EC2I| (25l &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ofl At ot Hws2

SO HYH(SHI0IEN) CRETH 1,000,000 0 1,000,000

401 Al&HIL 20| 1,000,000 0 1,000,000

01 Al&t| 993, 700 0 993,700
SO HYH(SHI0IBH) SRR U IX 993, 700

03 Al& S CH| 6,300 0 6,300
@S HYH(SHI0IEH) CRER U TF 6,300

Lo HYLMH(LP2105H) CRETHBA 150,000 0 150,000

401 AlEHIL2CH] 150,000 0 150,000

01 Al&H] 150,000 0 50,000
@3 HYLH(LH205H) CRHTY 150,000

N DOHE (MBI201SN) C22% L TZTA 200,000 0 200,000

401 Al&HIL =20 200,000 0 200,000

01 Al&t| 198,560 0 198,560
ONZ DO (NSI2015H) C2&E ¥ T8 198,560

03 Al& S CH| 1,440 0 1,440
@MY DO (MSI015H) CREE U TF 1,440

HS ZAH (L2235 4) SRETEBA 700,000 0 700,000

401 Al4HIL 20| 700,000 0 700,000

01 Al&t] 695,590 0 695,590
QU M (22135 H) T8 TF 695,590

03 Al& = CH| 4,410 0 4,410
OUIS ZAH(LHSI213EH) 28 X 4,410

czgxue 1,222,349 725,460 496,839

T2 AN DI|AY 100,000 100,000 0

401 Al&HIL =] 100,000 100,000 0

01 Al 100,000 100,000 0
OEE AN RI|AY 100,000

T2 OHALE HAAL 100,000 100,000 0

401 Al&HIL 2 0] 100,000 100,000 0

01 Al&H] 100,000 100,000 0
OS2 AHALE SXIAL 100,000

TB AT MALY 200,000 100,000 100,000

401 AIZHIL2CH] 200,000 100,000 100,000

01 Al&t| 200,000 100,000 100,000
OEE X SAALYS 200,000

DIZSX & 300,000 300,000 0

401 Al&HIL 20| 300,000 300,000 0
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01 Al&d 300,000 300,000 0
®0IEEX 24 300,000
MGt orME C2ate 70,349 65,460 4,889
101 244 2,349 3,460 AT
04 JIZR22UEES 2,349 3,460 AT
@usE M 36,690 x4 H 1604 A& 2,349
201 et 14,000 8,000 6,000
01 AtR22H 5,000 5,000 0
@z Ler2dy| 5,000
02 B2 9,000 3,000 6,000
@gasn 22l 2Hae| 9,000
206 24 54,000 54,000 0
01 M=4| 54,000 54,000 0
egsusIY 270,0008 +200E 54,000
CE RGN SXNESIA 450,000 0 450,000
401 AlEHI 22 450,000 0 450,000
01 Al&dl 450,000 0 450,000
O-%, ABDNY SNESZA 450,000
OIRIOIE S LY CCTV S Xl 2,000 0 2,000
201 Let2IH| 2,000 0 2,000
02 329 2,000 0 2,000
®0{2I01E5 AL} CCTV SXI2t2ll 2,000
SAAWA A3 7,777,645 6,934,099 843,546
o 3,915,107
= 20,000
[ 156, 134
, =z 3,686,404
sS4 MY 196,000 346,000 A 150,000
o 119,000
2 77,000
sEsHMEEIHE 170,000 170,000 0
& 119,000
= 51,000
401 AlEHIZL 2 170,000 170,000 0
o 119,000
> 51,000
01 Al&d 168,691 168,776 A85
OsEsdaEI1Y 168,691
o 118,783
= 49,908
03 Al& L 1,309 1,204 85
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OsESYMES SN 1,309
=l 217
2 1,00
SIOHCH R BH YT R 26,000 26,000 0
401 Al&HIL 20| 26,000 26,000 0
01 Al&H] 26,000 26,000 0
@BHHE BYALTH R e 26,000
=90| Y| 7,581,645 6,568,099 993,546
3 3,796,107
= 20,000
= 156, 134
2 3,609,404
SEBIEE-RIPR=EXS 4,000 2,000 2,000
201 Yer2 Y| 4,000 2,000 2,000
02 22| 4,000 2,000 2,000
@IRWL SY24E 4,000
ISR R R ST 508,000 416,320 91,680
3 146,000
2 362,000
401 Al&HIL 20| 104,000 208, 160 £104,160
z 73,000
2 31,000
01 Al&t] 103,376 206,661 A103,285
@INANEHBXE HTF 103,376
= 72,563
2 30,813
03 Al& S H| 624 1,499 ~875
@INANHBR2 HTF 624
=l 437
2 187
402 RIAX 20 H 404,000 208, 160 195,840
= 73,000
2 331,000
02 DIZHHE AL H] 404,000 208, 160 195,840
@INANFBR2 HTF 104,000
z 73,000
2 31,000
@ISR ST (TH) 300,000
CEL-ESIEIET 2,000,000 1,949,000 51,000
3 1,400,000
2 600,000
401 Al&HIL 20| 2,000,000 1,949,000 51,000
3 1,400,000
2 600,000
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01 Al&H| 1,991,420 1,941,984 49,436
OsEEFI|IES 1,991,420
= 1,393,9%
i 597,426
03 Al£=R0HHl 8,580 7,016 1,564
@OsEFFI|tES 8,580
= 6,006
= 2,574
=241 1,000,000 600,000 400,000
401 AEHIL 2048 500,000 300,000 200,000
01 Al&H| 500,000 300,000 200,000
@02 &1 500,000
402 LIt XHE01H 500,000 300,000 200,000
02 SIZ2+CHEM At I 500,000 300,000 200,000
@0E+=2 &1 500,000
JIHSH B HZE L E 573,760 0 573,760
401 Al&HI LS OHYI 573,760 0 573,760
01 Al&H| 569,629 0 569,629
@I HSZBEZE L F(XHA) 569,629
03 Al =R0HHl 4,131 0 4,131
@I HG B EZ &L E (XA 4,131
SYIIBAIE 2= 300,000 300,000 0
401 Al&HI LS04I 300,000 300,000 0
01 Al&H| 300,000 300,000 0
©O=ZIIBtAIEIHE == 300,000
ol H==CclAlE |Xl2 40,000 40,000 0
= 20,000
= 20,000
402 QI+ XHE01H 40,000 40,000 0
= 20,000
= 20,000
01 BIZPGEEX 40,000 40,000 0
=c|H=ClAld FXl2el 40,000
&2 20,000
i 20,000
& JletEdl 2,455,885 3,145,779 A689,8%4
& 1,935,107
L= 156,134
i 364,644
401 Al&HI YL S OHYI 2,455,885 3,145,779 A689,8%
= 1,935,107
= 156, 134
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2 364,644
01 Al&H 2,445,692 3,133,298 687,606
@EI|eEY (0IR2IX7) 2,011,733
2 1,609, 186
L= 120,565
2 281,982
@I BHE Y (ZH4X) 433,959
& 317,963
= 34,899
= 81,097
03 AlE 20| 10,193 12,481 N2,288
@D g H I (DFRel X+ ) 7,267
2 5,814
== 435
= 1,018
@AY (Z=2=XIF) 2,926
e 2,144
L= 235
2 547
T2 &X 45,000 0 45,000
401 A& HI YL 2T 45,000 0 45,000
01 Al&HI 45,000 0 45,000
SH dEcl FEW =22 24X 45,000
HAQSEY 450,000 0 450,000
= 315,000
2 135,000
401 Al EHIZL 2 450,000 0 450,000
2 315,000
2 135,000
01 Al&H 450,000 0 450,000
OFANSELHAML(23XP) 450,000
2 315,000
2 135,000
WEH 2212 s&SXIF til=2 &X 10,000 0 10,000
401 AlZHIL S THYI 10,000 0 10,000
01 Al&H 10,000 0 10,000
@OUEH =&1el ssX+ Etl+=2 &X 10,000
SEH A2 FHE 42 HES 35,000 0 35,000
401 Al&HI LS04I 35,000 0 35,000
01 Al&H] 35,000 0 35,000
@OFEQH AU =82 T2 HE+ 35,000
HES T232 2E7E HES 40,000 0 40,000
401 Al HIZL ST 40,000 0 40,000

- 212 -




S AT
M sAAM A5

Crel: meld| ek A Y| (ol @
l:l}\_l X ZH C|-O|(;|j:”) }\-“C‘}\|.O-I A2 Al OH HdE T 2F
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01 Al&HI 40,000 0 40,000
@OLEH T232 272 M 40,000
H E23cl sg38+2 &X 40,000 0 40,000
401 A &EHIYL 2048 40,000 0 40,000
01 Al&H| 40,000 0 40,000
@0sH =32 =822 40,000
LW el sg28+ &X 50,000 0 50,000
401 AIEHIZ 2 50,000 0 50,000
01 Al&t| 50,000 0 50,000
@288+ 4dX(14l) 50,000
StEW Hatze| FEXNS S22 &X 30,000 0 30,000
401 A EHIZL 2048 30,000 0 30,000
01 Al&H| 30,000 0 30,000
@sti+=2 & X (L=250m) 30,000
HorM 2| M 2= 249,379 169, 196 80, 183
= 5,781
& 25,768
= 217,830
ol 2tel 144,787 57,200 87,587
= 2,271
= 18,500
= 124,016
HOFM ALY O A 61,325 16,800 44,525
& 15,000
= 46,325
101 Q14| 59,825 16,800 43,025
& 15,000
= 44,825
04 JIZtHZ2Z2HEE+ 59,825 16,800 43,025
@2s0| QA 1490 2 +2H+35,6102 +60 59,825
& 15,000
= 44,825
201 LBt FH| 1,500 0 1,500
01 AFR 22| 1,500 0 1,500
@2s0] etdze A8 1,500
=0 SHMAIE &X 14,542 0 14,542
= 2,271
= 12,271
01 Lt 14,542 0 14,542
= 2,271
i 12,271
01 AFR22lH] 14,542 0 14,542
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[ 2,400
a 10,600
201 LEred| 1,000 1,000 0
01 At222lb] 1,000 1,000 0
OELHEE 1,000
307 QI2tolH 12,000 12,000 0
= 2,400
2 9,600
06 283 12,000 12,000 0
@ELHEE 12,000
=3 2,400
z 9,600
NETHHNSSLAE 29 3,000 3,000 0
201 LEreg| 3,000 3,000 0
01 At2Z2lb| 3,000 3,000 0
OAETHLEY BE 29 3,000
NeATeYHe 24 13,000 10,000 3,000
201 LEreg| 5,000 2,000 3,000
01 AtR22lb| 5,000 2,000 3,000
OXNANESLW LES 29 5,000
301 LEEANS 3,000 3,000 0
10 BAAHIZAS 3,000 3,000 0
OXNEESLWE 2 3.000
302 OIFLMAHEAS 5,000 5,000 0
02 QIZtOITHBH 2 &2 5,000 5,000 0
@raxsLNs 2 5,000
A4EHE By 10,000 10,000 0
201 LEreg| 10,000 10,000 0
01 AtR22lb| 10,000 10,000 0
@+ERT [y 10,000
oI XIS HH 5,000 5,000 0
201 LEred| 5,000 5,000 0
01 At222lb] 5,000 5,000 0
@I XIH FH 5,000
ST 7Y 20,000 10,000 10,000
206 THZH 20,000 10,000 10,000
01 W2l 20,000 10,000 10,000
@*SX P 20,000
THBHAFE CH B 4,000 0 4,000
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201 LBty 4,000 0 4,000
01 AFR 22| 4,000 0 4,000

©OHEE ArXEUIYI 2,000

©OHASE ALY 2,000
HRIAIY 23| 3,120 5,400 A2,280
202 (4 H| 3,120 5,400 A2,280
01 =LA b 3,120 5,400 A2,280
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ol 2| 266,078 288,410 N22,332
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03 RIAHA2Z2NE = 261,878 284,210 A22,332

@22 2lAH| 261,878

oJl=s 43,6003 x10H x253 110,308

O&N= 110,308,000 *1/12%43| 36,770

OAZte2R=+Y 5,188 *10F 180 *1.5% 141

oREsdsY 43,6003 x108+31 13,516

O¢XRESHFI=E 43,6003 x10E 11 4,796

oxgd2Y 43,6003 x10H *21 *1.5% 138

O& MG 20,0003 x1H«12& 240

ORR=Eay=y 15,0002 x10H «12& 1,800

O=CAZRE= 195,172,000 *4.5% 8,783

O=3VHLEEHRE S 195,172,000 *4. 7% 9,174

ONs=EERY3 195,172,000& 2. 5% 4,880

OXMTHEERYE 2 195,172,000& 3. 5% 6,832

oIl =H| 1,500

-&gs 50,0003 10 x 13l 500

- get= 35,0003 x10H =13l 350

- A st 25,0003 *10Z *13] 250

-9 10,0002 10 * 13| 100

- 2R 15,0003 10 »23| 300

OF=3=i:] 5,000& x10H 602! 3,000

OE&EHIZ 30,000, 000& *2H 60,000
HE =& 4,200 4,200 0
203 L RF&Y| 4,200 4,200 0
04 EARIZRFEHI 4,200 4,200 0

ORN2E HF = 4,200

ol 350,000 x12& 4,200
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OEA2Y 2223 2 AN 16,840

202 O4dl 4,320 7,200 A2,880

01 SUHHYI 4,320 7,200 N2,880
CEVIEE-R-EIESS 4,320

405 XtobE SHI 600 0 600

01 T =S FH SHI 600 0 600
@Z2AMESEII(1HH) 600

Hests (AL THa) 241,996 209,976 32,020

LHEHHXI = 241,996 209,976 32,020

M2l g &8 241,996 209,976 32,020

702 JI=dES 241,996 209,976 32,020
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207 eIl 600,000 0 600, 000
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01 eipg | 600,000 0 600, 000
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